Vivekanand College Kolhapur (Empowered Autonomous)
B.Sc. IT Semester 111
Surprise Test
Paper: Statistical Methods I

Date: 29/01/2025 Total Marks: 20M
Instruction:

Attempt all questions

Q 1. Define residual & order of residual. State & prove three properties of
residual. 10M
Q 2. State the equation of regression planes. State the formulas of all partial
regression equations 5*2=10
Q3. With usual notations show that, Cov (X, e123) = 0,2 — 01 43% where e z; is

estimated value.
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Vivekanand College Kolhapur (Empowered Autonomous)
B.Sec. I11 Semester VI
Surprise Test
Paper: Statistical Inference 1T

Date: 11/02/2025 Total Marks: 10M ‘
Name of the Student: kK v~ushop o Pd o <

[O
1) The most preferred confidence interval for a parameter © should be.... W
\/ﬁ:ith shortest width and largest confidence coefficient

b) with largest width and largest confidence coefficient

¢) based on sufficient statistics d) both (a) and (b)
iven that P(4.4< p < 15.7) = 0.90, Which of the following is correct? ol
a) The width of confidence interval is 11.3. b) 4.4 and 15.7 are 90% confidence limits of .

¢) Probability that p lies in the interval (4.4, 15.7) is 0.90 __-&)yAll (a) to (c) are true

3)If X1, Xa,..., Xa is a random sample from exponential with parameter 6 then interval estimate of 6
can be obtained by use of....
/‘ a) Normal distribution _b) t-distribution
¢) Chi-square distribution d) F-distribution
4) The NP — Lemma provides best critical region for testing ...... hypothesis against .... hypothesis

/),sim'ple, simple b) simple, composite c) composite, simple d) composite, composite

5)If random variable X has N(p,0?) distribution then which of the following is simple null hypothesis?
a) |u/=0 b) u=10 ¢) 6>=16 =10, 6’>=16

6) Which of the following statement is false?
_a) Probability of rejecting Ho when H; is true is known as type II error.
b) Neyman Pearson test leads to a Most powerful test.
¢) Probability of rejecting Ho when H is true is known as type I error.
d) All the above are true

7)LR-test for testing the equality of variances Ho: 0'12 =o*§ against Hj: 012 # a‘% of two normal

/populations with unknown means is equivalent to a....

a) Student t-test «b) Fetest ¢) Chi-square test d) Z-test
8) The M. P test consistin .............. for fixed a
//a)—nﬁmnuzmg B  b)maximizing f  ¢) minimizing (1- ) d) none of these

9) If statistical test T for testing simple null hypothesis against simple alternative is at least as
powerful as any other test then it is known as. ... '

a) UMP — test b) MP — test !
/c,)i:R ~ test d) None of them ]
10)  If we increase the confidence level, the confidence interval lengthis ...... :
_—aydecreases b)) increases
/ c) Stays as same d) may increase or decrease depending on data.
ek e e ek e ke
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1) The most preferred confidence interval for a parameter © should be....
_—aywith shortest width and largest confidence coefficient
R~ 1) with largest width and largest confidénce coefficient
¢) based on sufficient statistics d) both (a) and (b)
2) Given that P(4.4< p < 15.7) = 0.90, Which of the following is correct?
_—a) The width of confidence interval is 11.3. b) 4.4 and 15.7 are 90% confidence limits of . |
Q< ¢) Probability that p lies in the interval (4.4, 15.7) is 0.90 d) All (a) to (c) are true 5'
I Xy, Xa,..., Xn is a random sample from exponential with parameter 0 then interval estimate of 8 *'
L/tﬁn be obtained by use of.... 4:
a) Normal distribution b) t-distribution
—e)Chi-square distribution d) F-distribution

4) The NP — Lemma provides best critical region for testing ...... hypothesis against .... hypothesis
‘_/})-sim'ﬁle, simple b) simple, composite c) composite, simple d) composite, composite

\}mdom variable X has N(u,0?) distribution then which of the following is simple null hypothesis?
a) [u/=0 b) p=10 ¢) 0>=16 /da‘ﬁg o*=16

6) Which of the following statement is false?
a) Probability of rejecting Ho when H; is true is known as type II error.

' b) Neyman Pearson test leads to a Most powerful test.
\/ ¢) Probability of rejecting Ho when Hy is true is known as type I error.

_d)yAdtthe above are true
7)LR-test for testing the equality of variances Ho: 0'12 = 0'22 against H;: 0'12 # 0-22 of two normal
/ populations with unknown means is equivalent to a.... .
a) Student t-test b)Y F-test ¢) Chi-square test d) Z-test
8) The M. P test consistin ............. for fixed a
(1-B)  d) none of these
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9) If statistical test T for testing simple null hypothesis against simple mw is
pomrﬁ;lasanyothertestthenlttsknmas Jﬂmu :




